thar

pT

Ratio to ATLAS

“rpb/GeVA]

=
o
o2

[EEY

0.5

13000 GeV pp it
S | L T | T T T T Tt | — T T T T T T T 7 | 9
c
I top . . o
- P, (ATLAS semileptonic ttbar) 93
- 1=
— m ATLAS 1o
[ --8- Pythia 6.428 391 T
~<¥-- Pythia 6.428 393 9!
— --®-- Pythia 6.428 394 | ;
—® v Pythia 6.428 395 e
g . i
— & -
— &i‘\:‘_x\ﬁ — o
— o ke
— N 12
N, . o
- \‘\"}:. N @
— \.*‘,. N —Ho
N 8
| o 13
RN >
\_\\\ \\‘ . >5
= RN E=E
— NN . =
| N N \. . O
— v q°e
B g 1<
©
B — 0
Is!
o
— 18
S N SO S U I =
- Ep:
1

| g;;;‘:’:'_‘ e Ifl—] |
_BE]/ ----------- - ] 0.5
IR B 1 1 1 | I 1 ] N L L]
500 1000 1500 2000

pt"= [GeV], pthaf{t} in [0,40] [GeV]



	Contents
	Page 1


